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Second Year Higher Secondary Examination
Part — Il
ACCOUNTANCY WITH COMPUTERIZED ACCOUNTING
Maximum : 60 Scores

Time : 2 Hours
Cool off time : 15 Minutes
¢ . _ D
General Instructions to Candidates :
e There is a ‘cool off time’ of 15 minutes in addition to the writing time of
2 hrs.
» You are not allowed to write your answers nor to discuss anything with others
during the ‘cool off time’.
Use the ‘cool off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except non programmable calculators are not allowed in
the Examination Hall.
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Maximum : 40 Scores

PART -1
Accounting

1. X,Y and Z are partners in a firm. 1. XY, Z agmicud e muooaimoniee:

If ‘B’ is to be admitted as a new
partner.

a) Old partnership has to be dissolved.
b) Old firm has to be dissolved.

c) Both old firm and partnership
have to be dissolved.

d) Neither firm nor partnership

alo®sSemdmomosn. ‘B’ agym alyeniiow
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mado aflecvodal eralgeme.
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b1} (1 Score)
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(2 Scores)

need to be dissolved. (1 Score)

2. Fill up the empty boxes with
correct answers : (2 Scores) 5

Account to be Account to be

Transactions debited credited

For increase in the

valuation )
value of assets Revaluation a/c

For decrease in the

value of iiability Lnabmty a/c.

For recording

Revaluation a/c.
unrecorded asset

For transfering loss on

i valuation a/c.
revaluation Revaluation a/c

3. The amount due to the retiring
partner may be transferred to a
Loan Account in his name to be
gradually paid off with interest.
In this connection give journal

3. afldlemm)caiodyM alodSemdens)
OD0SICHNENE W @OEFa0 OO
Gal@lengs Geloemd Mo VeNElerlHs)
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entries e206m@ agyRESBB ag) o

i) fortransfer to Loan A/c. i) ceioen®  @oenvedlealss’ moE)
ii) forinterest mailary

iii) for payment of instalment. i) atellvss enlend

(2 Scores) i) oyes sndeotend oo

@M. (2 Scores)
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Discount allowed on re-issue of
forfeited shares is debited to

a) discount on issue of
shares a/c

b) forfeited shares a/c

c) profit and loss a/c

d) share premium a/c  (1Score)

Debentures represent

a) the investment of equity
shareholders

b) directors share in a business
¢) long term liabilities of a business
d) owners of the business.

(1 Score)

Debentures which cannot be
transferred by mere delivery are
called

a) registered debentures
b)

c) mortgage debentures

d) convertible debentures. (1 Score)

naked debentures

Arya and Meera are partners.
They do not have any partnership
agreement. What should be done
in the following cases ?

a) Arya wants to introduce her
son Hari into the business.
Meera objects to it.

b) Meera wants that profits
should be distributed in the
ratio of capitals but Arya wants
that it should be distributed
equally. Give reasons for your
answer. (4 Scores)

. Ganddadly 01 OaUQWOIHND O
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awendly e.01gyo ?

a) discount on issue of shares a/c

b) forfeited shares a/c

c) profit and loss a/c

d) sharepremiuma/c.  (1Score)
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d) exflimqlled psamund. (1 Score)
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a) registered debentures

b) naked debentures

c) mortgage debentures

d) convertible debentures. (1 Score)
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8. ‘Violet’ and ‘Indigo’ are partners

in a firm sharing profits and

losses in the ratio of 5 : 3 with
capital of Rs. 45,000/- and
Rs. 35,000/- respectively. They
admit ‘Blue’ as a partner and the

new profit sharing ratio becomes

5:

3: 2. Blue is asked to

contribute proportionate capital.

a)

Hint :

Calculate the amount of
capital to be contributed by
‘Blue’. |
What adjustments are to be
made in the capitals of ‘Violet’
and ‘Indigo’ if it is agreed that
the capitals of Violet and
Indigo, as between themselves,
are also to ke adjusted in profit
sharing ratio by either paying
in or withdrawing cash 7
Calculate the total capital of
the firm. Then find out the
shortage or surplus in the
capitals of ‘Violet’ and ‘Indigo’.

(6 Scores)

9. Give three distinctions between

8. "auway”,

RGO R
0SB agymilaud
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‘gaining’ and ‘sacrificing’ ratio.

(3 Scores)
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(3 Scores)
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A and B were pariners in a firm
sharing profits and losses inthe ratio
of 3 : 2 respeciively. They decided
to dissolve the firm on 315t March,
2010. On that date, their capitals
stood at Rs. 1,80,000 and
Hs. 80,000 respectively. Amount
owed by “B” to firm was
Rs. 59,200 and there was a loan
by “A” for Rs. 72,000. Creditors
were Rs. 4,80,000, sundry assets
Rs. 6,89,600 and cash Hs. 43,200.
Sundry asseis realised
Rs.5,53,600. Realisation expenses
amountedto Fs. 16,000.

Prepare realisation account, cash
account and capital accounts of
partners assuming that both the

partners are solvem. (6 Scores)

Journalise the following transactions :

a) Adebeniure issued at Rs. 95
repayable at HBs. 100

b) A debenture issuedatRs. 95
repayabie at Rs. 105

c) Adebenture issuedat Rs. 100
repavable at Rs. 105

Note : Thefacevalue of each debenture

3050

is Rs. 100. {5 Scores)

10.

11.

“A” @0 “B” @0 80} cunda im@rsies:
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80,000 myoiaymoem. 59,200 et “B”
OOAIMN@BT N@BBOMENE. U0 |
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12. a) Evergreen Lid. invited
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applications for 25,000 equity
shares of Rs. 10 each. The
shares were to be issued ata
premium of Rs. 2 per share.
The amount was payable as
follows :

On application Rs. 2

On aliotment  Rs. 5
{including premium)
On first and final call — Balance
application for 40,000 shares
were received. Application for
10,000 shares were rejected
and shares were allotted on
pro-rata basis to the remaining
applicants. Excess application
money was adjusted towards
sums due on allotment. All
calls were made and the
money was duly received.
Pass the necessary journal
aniries in the books of
the company.

OR

} Crystals Lid. invited

applications for 1,00,000 equity
shares of Rs. 10 each. The
amountwas payable as follows :

On appilication Rs. 3
On allotment Rs. 4
Onfirstand finalcall Rs. 3

Application for 1,50,000 shares
were received. Allotment was
made 10 all the applicants on
pro-rata basis. Aaron to whom
400 shares were allotted failed
to pay the allotment money.

His shares were forfeited -

immediately after alloiment
was made. Pass necessary
journal entries in the books of
the company,

(8 Scores)

(8 Scores)
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PART —1i

Computerised Accounting Maximum : 20 Scores

Changes in ledger accounts can

be made in mode.

a) Display

b) Alter

c) Create

d) Delete (1 Score)

The text in a cell are horizontally
aligned by default

a) Left
b) Centre
c¢) Right

d) Top (1 Score)

List a group of accounts under
indirectincome. (3 Scores)

Draw a ‘company creation screen’
in Tally with imaginary details.
(3 Scores)

List out any six default accounting
vouchers with their corresponding
function keys to activate the
Voucher Entry Screenin Tally.

(3 Scores)

Whatis ‘function’ ? How is it differ
from a formula ? What are the
different categories of functions
available in Excel ? (4 Scores)

1.

ORI GrHOVMSIMR moReBd
CL@ETIROME) GOSN

{1 Score)

80 OMVENOL! HSEN e1a00CIBM0eNE
2100’ UllanddSied
Alellcd @oeeaitd 6oigldlemmm;.

a) esEY)
b) ow\sowmm
C) Qlelayivom sy

d) oysneilad (1 Score)

'EOMDADOLE M0 ag)maier
ST B0y (e Bl @6 veNE
ellmy 6.01Q)ds. (3 Scores)

qV0EBLJles QNOIEETBM Baleousl o)
eBx06nz *'soell”’ led ew) exmuiad
(@A (U0 QLIO@YSs.

(3 Scores)
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@O VENElo68E D 20810
Go@len) ElWOW anceraud
BIWY0 f)PIONDs. (3 Scores)
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a) From the following
transactions, prepare a
statement showing accounts
involved, groups, Debit/Credit
and the name of voucher to
be used for the purpose of
ascertaining Net Profit.

2010 January, 1 — started
business with Rs. 1,00,000.
2010 January, 1 — Opened
current account with SBI
Rs. 20,000.
2010 January, 2 — Bought
furniture and issued cheque
No. 205, Rs. 8,000.
2010 January, 2 - Sold goods
to Francis Rs. 80,000.
2010 February, 1 - Paid rent
by cheque Rs. 2,000.
2010 February,12 - Paid
Salaries Rs. 13,000.
2010 March, 10 — Issued
cheque to Anil Rs. 2,500.

(5 Scores)

OR

b) Explain the procedure and
steps involved to arrive the
financial position and result of
business operations through
the following :

i) Company creation

.

il) Ledger creation

iv) ‘Display Trial Balance

v) Display Profit and Loss
account and Balance Sheet.
(5 Scores)

)
)
iii) Entering vouchers
)
)

7. a)

b)

)
ii)
iii)
iv)
v)

OO

@6 OI0SIYBIBloeRNM (SO
HHMBUD HIBWIUS 206N |
e |Sldlbem @RHHVEMBIEM,
(a], wenlig/(w@awlg, elogo
HOMBOMOM ©ale@IUI|HNM
Avo)dlom Gald; agnil aflale
EBR HROB08E] 0)) 6B06NBS
&) Al MYOOIBO)D:.
2010, =moudl, 1 - mﬂmﬂmq}g
@poodlal. 1,00,000 el
2010, samaudl, 1 - a@% ondl.
6ag). —ld HOMW @oHHVNE
asewsl 20,000 @yal.
2010, smaid, 2 — an®emilod
OLI0ETRIY0 6)21ds) MU 205
MN@BQ)0 6101, 8,000 myal.
2010,2mu@l, 2 — (anomm
Sl crvowmesstd aflg. 80,000
O
2010, eanEnyaudl, 1 — e.0les
MELOOHI00 (U0SH: M@deesl. 2,000
oL,
2010, eanEnpaidl, 12 — wenigo
m@dewsl. 13,000 @pat.
2010, oo®2j, 10 — @ocdleflny’
61.0106) MEdsl. 2,500 @l

(5 Scores)
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